
5. On January l, an investment account is worth 220. On May l, the value has increased to 240 and D is
deposited. On November l, the value is 220 and 100 is withdrawn. On January I of the following year,
the investment account is worth 180. The time-weighted return is 0%. Calculate the dollar-weighted
return. [5.d-e #10]
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On January l, an investment account is worth 220,000. Mmonths later, the value has increased to
228,800 and 8,800 is withdrawn. 2M months prior to the end of the year, the account is again worth
228,800 and 8,800 is withdrawn. On December 31, the account is worth 228,800. The annual effective
yield rate, using the dollar-weighted method, is 12.55Yo. Calculate &/. [5.d-e #11]
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7. You are given the following information about an investment account:

Ut/2000 31U2000 4/t/2000 Tlt/2000 t/U2
Account Value
(Before Transaction)
Deposit

Withdrawal

100 108

20

96
t2

t02
X

t2G

The time-weighted yield rate is 18.82%, and the dollar-weighted yield rate is 18.18%. Calculate ?.

[s.d-e #12]
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200 is deposited into a fund on January l, 2010. Another deposit is made into the fund on July l, 2010.
On January l,20ll, the balance in the fund is 460. The time-weighted yield rate is I l% and the
dollar-weighted yield rate is 5o/o. Calculate the annual effective interest rate earned on the fund during
the first six months of 2010. [5.d-e #la]
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9. You are given the following table of interest rates:

Calendar Year of
Original Investrnent Investment Year Rates (in %)

Portfolio Rates Calendar Year of
(in%) Portfolio Rate
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A person deposits 1000 on January 1,2007 Let the following be the accumulated value of the 1000 on
January 1,2013:

P: '-under the investment year method
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lpwtrere the balance is withdrawn at the end of every year and is reinvested at the new money rate

Determine the sum of P, Q, and R. [5.f #01]
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10. The following table shows the annual effective interest rates being credited by an investment account, by
the calendar year of investment. The investment year method is applicable for the first 3 year, after
which a portfolio rate is used:

Calendar Year of
Original Investment

PortFolio Rates Calendar Year of
Investment Year Rates (in %) (in%) Portfolio Rate
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An investment of 100 is made at the beginning of years 2006,2007, and 2008.
interest credited by the fund during year 2009 is equal to 27 .71. Calculate t.
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